SO

3
Tl
>

1. ¥¥4
B4 BR6 - TARE Ty B KRNI BRI ERR « K SO RIS
JEATST FIE AT )| [ SRS T N

2. ¥EBNE
1) $H4 SRR [ERE SRS ik it
364 HIH B &f 6% 64 1H

2) JE1THIR
£ o T4 5H30H

3) &FEtHM
AL, o W IKRICIST 25 F0 6 AR5 O/K ST BIO LY £ & MR

Z1T9 &L bIT, F S OB AFEE S 572D, KROIREBLIAT 5 ETo
AN B DKM R FRR L. KOL, REFERFEOREEEHER Z1T 9 35

Th o,

4) FEHBNA
BE TEERRIL R D LBb,

E+sZi@E SN



PR NER =

Tl
P

WA | A6 - TEET S HNACRAKALTEEMBRMER « AU SIS E {H'J%%a‘%
HH KT
THH - T - R A7 B & & KA OB ORR
FRSCEH = 1 4,342, 402
IRALHE B AR ERK, 2y 1 2,054, 821
RO R AR R eV 1 2,054,821 | FHEE( 1 ks
FEBEE B OWLE - SR )
5 BIAIRT
RO E IR O VB N
5 BIAIRT
HEHE RO ERL )
5 BURIET
BURIFTEL L O VERL B
5 BUAIET
H-y Q - H-A - H-V - BT O/ERR
5 BURIET
S EER
1 kW
AL R IR D T — & = 2B u
1
IRICE RHEEL = 1 2, 287, 581
K = 1 2,287,581 | EhHEiHEf X _—
BUHNE DOWISEFZS #a
1 =
BAMEORE ‘
1 =
TR AT
1 =
HEHE RO R ‘
1 =

-1- E+sZi@E SN



= SR 2
H 5 FIR =
WA | A6 - TEET S HNACRAKALTEEMBRMER « AU SIS E W=
HH KT
THH - T - R A7 ¥ & A OB ORR
Wi EER
1 e
IKSUKE T — 5 ~_— A Xk
3 [A]
EiS T G2V 1 269, 700
EiST] G2V 1 269, 700
e 2y 1 269,700 | ¥FTAE
1 =X
[EReS S~ = 1 162, 720
[ERc2 S = 1 162, 720
P i =y X 1 68, 720 | k& (FEE - BmAME)
1 A
B R VR X 1 94,000 | FEEEIAERE
1 A
TEE = 1 4,774, 822
R e = 1 3,415, 178
RORRE = 1 3,415, 178
T B SE R = 1 8, 190, 000

E+sZi@E SN



